
Padlock Device Kit

Introduction
7KH�:DYH3UR� SDGORFN� SURYLVLRQ� KDV� EHHQ� UHGHVLJQHG� WR
DFFRPPRGDWH�PXOWLORFN� VFLVVRU�W\SH� VDIHW\� ORFNRXW� KDVSV
DV�ZHOO�DV�XS�WR�WKUHH�SDGORFNV�ZLWK������GLDPHWHU�VKDQNV�
7KH�SDGORFN�SURYLVLRQ�SUHYHQWV� WKH�EUHDNHU� IURP�FORVLQJ
E\�KROGLQJ�WKH�WULS�ODWFK�LQ�WKH�WULSSHG�SRVLWLRQ�

7KH� FDWDORJ� QXPEHUV� IRU� WKH� SDGORFN� GHYLFH� NLWV� IRU
GLIIHUHQW�DSSOLFDWLRQV�DUH�OLVWHG�LQ�7DEOH����7DEOH���LV� WKH
OLVW�RI�SDUWV� LQFOXGHG� LQ� WKH� NLW��7KH�SDGORFN� DVVHPEO\� LV
LOOXVWUDWHG�LQ�)LJXUH���

Catalog Number Application

WPLFOEMPLKHC OEM Large Frame, Hidden Close

WPLFOEMPLKRC OEM Large Frame, Regular Close

WPSFOEMPLKHC OEM Small Frame, Hidden Close

WPSFOEMPLKRC OEM Small Frame, Regular Close

WPLFPLKHC Large Frame, Hidden Close

WPLFPLKRC Large Frame, Regular Close

WPSFPLKHC Small Frame, Hidden Close

WPSFPLKRC Small Frame, Regular Close

Table 1. Catalog numbers of padlock device kits.

Item Part No. Description Qty.

1 N691P15010B6 Screw, #8-32 6

2 N721DP21020B6 Screw, 1/4-20 x 11/4" 2

3 N405P11B6 Lock washer, 1/4" 2

4 10086256G1, 2 Padlock assembly 2

5 10060267G1, 2 Breaker escutcheon 1

6 N722EP16006B6 Screw, #10-32 x 3/8" 1

7 10055936G1 Hidden close button 1

G1 applies to small-frame kits, G2 to large-frame kits.
Replacement screw included in small-frame kits.
Included in kits specifying hidden close button.

Table 2. Parts included in the padlock kit.

Figure 1. Padlock assembly.

Operation
7R�RSHUDWH�WKH�SDGORFN�PHFKDQLVP��ILUVW� WULS�WKH�EUHDNHU
E\� SUHVVLQJ� WKH� OPEN� EXWWRQ�� :KLOH� KROGLQJ� WKH� OPEN
EXWWRQ� LQ�� SXOO� WKH� SDGORFN� VOLGLQJ� SODWH� RXW�� 3XW� WKH
SDGORFN�RU�VDIHW\�ORFNRXW�KDVS�LQWR�DQ\�KROH�LQ�WKH�SODWH�
7KLV�ZLOO�SUHYHQW�WKH�SODWH�IURP�UHWXUQLQJ�WR�LWV�XQORFNHG
SRVLWLRQ�DQG�SUHYHQW�WKH�EUHDNHU�IURP�FORVLQJ�

Installation

:$51,1*�� %HIRUH� LQVWDOOLQJ� DQ\� DFFHVVRULHV�
WXUQ� WKH� EUHDNHU� OFF�� GLVFRQQHFW� LW� IURP� DOO
YROWDJH� VRXUFHV�� DQG� GLVFKDUJH� WKH� FORVLQJ
VSULQJV�

$9(57,66(0(17�� $YDQW� G·LQVWDOOHU� WRXW
DFFHVVRLUH�� PHWWUH� OH� GLVMRQFWHXU� HQ� SRVLWLRQ
OFF�� OH� GpFRQQHFWHU� GH� WRXWH� WHQVLRQ
G·DOLPHQWDWLRQ�� HW� GpFKDUJHU� OHV� UHVVRUWV
G·DUPHPHQW�

1XPEHUV� LQ� EUDFNHWV� LQ� WKH� WH[W� DQG� ILJXUHV� UHIHU� WR� WKH
LWHP�QXPEHUV�RI�WKH�SDUWV�LQ�7DEOH���

 �� 5HPRYH�WKH�VL[�VFUHZV�VHFXULQJ�WKH�HVFXWFKHRQ�WR�WKH
EUHDNHU��3XOO�WKH�PDQXDO�FKDUJH�KDQGOH�RXW�SDUWZD\�
WKHQ�VOLGH�RII�WKH�HVFXWFKHRQ�DQG�GLVFDUG�

 �� ,I�UHTXLUHG��IROORZ�'(+���� WR� LQVWDOO� D�KLGGHQ�FORVH
EXWWRQ�

 �� 6PDOO� IUDPH� RQO\�� 5HPRYH� WKH� ������� x� ����� VFUHZ
VKRZQ�LQ�)LJXUH���DQG�UHSODFH�LW�ZLWK�D��������x�����
VFUHZ�>�@��5HPRYH�WKH�UHWDLQHU�ULQJ�DQG�ZDVKHU��WKHQ
UHSODFH�RQO\�WKH�UHWDLQHU�ULQJ�

/DUJH� IUDPH� RQO\��5HPRYH� WKH� VSULQJ� LQGLFDWHG� LQ
)LJXUH���

 �� 6PDOO�IUDPH�RQO\��'ULOO�WZR��������GLDPHWHU�KROHV����
GULOO��LQ�WKH�UDFNLQJ�PHFKDQLVP�EUDFNHW��DV�LQGLFDWHG
LQ�)LJXUH����3ODFH�WKH�KROHV�DV�IROORZV�

� )LUVW�KROH����������������� IURP� WKH�ULJKW�HGJH� DQG
���������������IURP�WKH�LQVLGH�RI�WKH�WRS�EHQG�

� 6HFRQG� KROH�� ������� �������� IURP� WKH� ULJKW� HGJH
DQG����������������IURP�WKH�LQVLGH�RI�WKH�WRS�EHQG�

DEH–40422   Installation Instructions R02

� WavePro™ Power Circuit Breaker
Accessories                                                                     

Insert padlocks in holes
when plate is extended.

Rivet heads face up
when installed.

Sliding
Plate

Locking lever
engages push-to-

trip rod.

Mounting
Block



/DUJH�IUDPH�RQO\��'ULOO�WZR��������GLDPHWHU�KROHV����
GULOO�� LQ� WKH� UDFNLQJ� PHFKDQLVP� EUDFNHW�� DV
LQGLFDWHG�LQ�)LJXUH����3ODFH�WKH�KROHV�DV�IROORZV�

� )LUVW�KROH����������������� IURP� WKH�ULJKW�HGJH� DQG
���������������IURP�WKH�ERWWRP�HGJH�

� 6HFRQG�KROH���������� � �������� IURP� WKH�ULJKW�HGJH
DQG����������������IURP�WKH�ERWWRP�HGJH�

 �� $OLJQ�WKH�GULOOHG�KROHV�ZLWK�WKH�KROHV�LQ�WKH�SDGORFN
DVVHPEO\�>�@�PRXQWLQJ�EORFN��DV� VKRZQ� LQ�)LJXUHV��
DQG����7KH�ULYHW�KHDGV�LQ�WKH�DVVHPEO\�PXVW�IDFH�XS�
7KH� ORFNLQJ� OHYHU� RI� WKH� SDGORFN� DVVHPEO\� PXVW
HQJDJH�WKH�VWHHO�SODWH�RI�WKH�SXVK�WR�WULS�URG��6HFXUH
ZLWK� WZR� ������� [� ������ VFUHZV� >�@� DQG� ORFN� ZDVKHUV
>�@�DQG�WLJKWHQ�WR���²���LQ�OE�

 �� 3XOO�WKH�PDQXDO�FKDUJH�KDQGOH�SDUWZD\�RXW��6OLGH�WKH
KDQGOH� WKURXJK� WKH� VORW� LQ� WKH�QHZ� HVFXWFKHRQ� >�@
DQG�VOLGH�WKH�HVFXWFKHRQ�LQWR�SODFH��6HFXUH�ZLWK�WKH
VL[�������PRXQWLQJ� VFUHZV� >�@�DQG� WLJKWHQ� WR���²��
LQ�OE�

:$51,1*��%H�VXUH�WR�WHVW�IRU�SURSHU�RSHUDWLRQ
RI�WKH�PHFKDQLVP��DV�GHVFULEHG�LQ�VWHS����EHIRUH
XVLQJ�LW�WR�VHFXUH�WKH�EUHDNHU�

$9(57,66(0(17��$VVXUH]�YRXV�GH�WHVWHU�TXH
OH�PpFDQLVPH�RSqUH�FRUUHFWHPHQW���WHO�TXH
GpFULW�j�O
pWDSH����DYDQW�GH�O
XWLOLVHU�SRXU�IL[HU�OH
GLVMRQFWHXU�

 �� 7R� FKHFN� IRU� SURSHU� LQVWDOODWLRQ� RI� WKH� SDGORFN
PHFKDQLVP�� SXVK� LQ� WKH�OPEN� EXWWRQ�� SXOO� RXW� WKH
SDGORFN�VOLGH��LQVHUW�D������URG�RU�����JDJH�VROLG�ZLUH�
DQG�DWWHPSW� WR�FORVH� WKH�EUHDNHU��7KH�EUHDNHU�PXVW
QRW�FORVH�

,I� WKH�EUHDNHU�FORVHV�� WKH�SDGORFN�PHFKDQLVP� LV�QRW
PRXQWHG�LQ�WKH�FRUUHFW�ORFDWLRQ��,W�PD\�EH�QHFHVVDU\
WR� GULOO� ODUJHU� KROHV�� SXVK� WKH� SDGORFN� PHFKDQLVP
EDFN��DQG�DGG�QXWV�WR�WKH�WZR�VFUHZV�

Figure 2. Small frame padlock provision mounting location.

Figure 3. Large frame padlock provision mounting location.

Figure 4. Small frame racking mechanism bracket.

Figure 5. Large frame racking mechanism bracket.

#10-32
Screw

Mounting
Holes

Retaining
Ring

Washer

Spring

Mounting
Holes

Inside of
Bend

Right
Edge

Right
Edge

Bottom
Edge



Figure 6. Padlock assembly installed on a small-frame
breaker.

Figure 7. Padlock assembly installed on a large-frame
breaker.

Padlock
Assembly

Padlock
Assembly



�
GE Industrial Systems

                                                                                                                       
General Electric Company
510 East Agency Road, West Burlington, IA  52655

DEH40422   R02   0302 © 2002  General Electric Company

7KHVH�LQVWUXFWLRQV�GR�QRW�FRYHU�DOO�GHWDLOV�RU�YDULDWLRQV�LQ�HTXLSPHQW�QRU�GR�WKH\�SURYLGH�IRU�HYHU\�SRVVLEOH�FRQ�
WLQJHQF\�WKDW�PD\�EH�PHW�LQ�FRQQHFWLRQ�ZLWK�LQVWDOODWLRQ��RSHUDWLRQ��RU�PDLQWHQDQFH��6KRXOG�IXUWKHU�LQIRUPD�
WLRQ� EH� GHVLUHG� RU� VKRXOG� SDUWLFXODU� SUREOHPV� DULVH� WKDW� DUH� QRW� FRYHUHG� VXIILFLHQWO\� IRU� WKH� SXUFKDVHU·V
SXUSRVHV��WKH�PDWWHU�VKRXOG�EH�UHIHUUHG�WR�WKH�*(�&RPSDQ\�




